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#tinclude <stdio.h>

int main(void)

{
printf ("EERALIEELE ),
printf "CEEDHE 7).
printf ("XXFHEFRTT D),

return 0;

}
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#include <stdio.h>

int main(void)

{
printf ("[EERALIEEREYN") |
printf ("CEEBDEEY¥¥N") ;
printf ("3 F5| #KTT H¥");

return 0O;
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#include <stdio.h>

int main(void)

{
// printf ("EEROIEERN") ;
/%
printf ("CEBDEZY¥N¥N") ;
printf ("3XF5EFRTRT H¥");
*/

return O;

}

H A1

[HA%EL]

TaT T LTT =L WO AR L 0 DT — 2 B RAFT DMENTTL D, ZDT — X ZRAT
-2



THEFTOZ & & By LN, a4 5 ETiik I5—=2Z2 AT L LTI B,
MBS U THE (5F—2) 130D BRICERET S Z ENATRETH D, FEIC DWW TIdesd T35 73,
AaNTHEAEH ) L&D T, S5 E T T,

num

1 A

EEILLTFO L ICEE 21T O 2 & THIHT %,

=8
F_

CEU 5 e

T —HIRNIN OB DNETENILL R D 1 72075,
int B DT — Z
BHALIIAE THRETX D, J/ET AN ODDN— BB A, % Tt LT 50T, A%

TI7 7y O (a, num 72 ) ([ZB>THIAL TV, ZBEIILLTO XL S LT, T—H 21779
HZETHIAT S, ZOEBIZT—4% (H) ZRGTHUEOZ L% TEBIEEZATD] L),

Fe ZE num &0 D ZEA O int OZHIT 1100) 2HRATHITIE, BUFOMHEIO X 512479,

{5 R

int num;
num = 100;
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int num = 100;
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#tinclude <stdio. h>

int main(void)

{

int a

int b =100; // EHE

int c;

// KA

a =10,

c=b; /] BRENALTEZRATSHELTED

/] EHDORER
printf ("%d¥n”, a);
printf (“%d %d¥n”, b, c);

return 0;

}
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aDEA %D ERSTIZRREND
printf("%d¥n”, a);

printf(”%d %fl¥n", b, ¢);
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#include <stdio.h>

int main(void)

{

/] STEOFRR

printf ("5 + 2 = %d¥n”, 5+ 2);
printf ("5 — 2 = %d¥n”, 5 - 2);
printf ("5 * 2 = %d¥n”, 5 * 2);
printf ("5 / 2 = %d¥n”, 5/ 2);
printf ("5 %% 2 = %d¥n”, 5% 2);

return 0;

}
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5+2=17
5-2=3
5%x2=10
5/2=2
5%2=1
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#tinclude <stdio. h>

int main(void)

{

inta=5 b=2 c;

/] SEORER

c=a+hb;

printf (5 + 2 = %d¥n”, ¢);
c=a-b;

printf ("5 - 2 = %d¥n”, ¢);
c=a*b;




printf ("5 * 2 = %d¥n”, ¢);

c=a/b;
printf ("5 / 2 = %d¥n”, ¢);
c=a%b;

printf ("5 %% 2 = %d¥n”, c);

return 0;
}
H A5
b+2=17
5-2=3
5%x2=10
5/2=2
5%2=1
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